AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

FEDE	RAL CANDIDA	.TE	Ø STAT	STATE/LOCAL CANDIDATE						
To Av Windo	ail Themselve w, Federal Car	s of The Low ndidates Mus	est Unit Chast Sign The	arge During a Certification C	Political On Page 3					
Station an	d Location:			Date:						
I,/	Tike Spuille				,					
being/on behalf	fof: <u>Committ</u>	ee to Elec	of mike	Saul He	, a legally					
	date of the <u>De</u>			-1-	political					
in the	IDALLO STAT	e logistari								
	est station time as fo		12020							
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks					
See	Attached S	:hedule								
Total Charg	ges:									

For programming that, in whole or in national importance," list the matters	-	ing to any political matter of								
I represent that the payment for the a	bove described broadcast time has be	en furnished by:								
The CONDIDATE - MI	Ke Saville - Committee a	o Elect Mike Swille								
and you are authorized to announce the I represent that this person or entity is committee/organization of the legally	s either a legally qualified candidate o	▼								
The name of the treasurer of the cand	idate's authorized committee is:									
Rochelle Saville										
This station has disclosed to me its po and discount, promotional and other s										
	CRIMINATE OR PERMIT DISCRI IE PLACEMENT OF ADVERTISIN									
To Be Signed By Co	andidate or Authorized	Committee								
10/1/2000	h J Sule									
Date	Signature									
To Be Signed By Station Representative										
Accepted	Accepted in Part	☐ Rejected								
Kathen-e Mulum Signature	Katherine McQuain Printed Name	Offizy Manager Title								

Sales Order

Stations:	Caliente, KQEO	-FM, KUPI-FM		*******	Buyer:			
Contract#:	***************************************			34081	Agency Commi	ssion %: <u>0</u>	***********************	
						Calendar		
						1414kale		
Advertiser:	Mike Saville for I	ldaho (C)	*****		Makegood Polk	cy: Within Contract D	Dates	
Address:	Committee to Ele	ect Mike Savill d	3			,		
*****	PO Box 65			******				
City:	McCammon							
Phone:	(208) 244-4216							
Product Name:	Mike Saville for I	ldaho 20	*******					
Competitive Cod	e: Political							

Caliente

No		res	Alt	TIN	IES	LEN				DI	STRI	BUT	ON			RATE	T	OTALS	PTY
140	START	END	wks	START	END	L.L.IN	М	Т	W	Τ	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PIY
1	10/09/20	10/09/20		6:00 AM	10:00 AM	60					2			2	D	18.00	2	36.00	1
2	10/09/20	10/09/20		3:00 PM	7:00 PM	60					2			2	D	16.00	2	32.00	1
3	10/12/20	10/16/20		6:00 AM	10:00 AM	60	1	2	1	2	1			7	D	18.00	7	126.00	1
4	10/12/20	10/16/20		10:00 AM	3:00 PM	60	1	1	1	1	1			5	D	16.00	5	80.00	1
5	10/12/20	10/16/20		3:00 PM	7:00 PM	60	2	1	2	1	2			8	D.	16.00	8	128.00	1
6	10/19/20	10/23/20		6:00 AM	10:00 AM	60	1	2	1	2	1			7	D	18,00	7	126.00	1
7	10/19/20	10/23/20		10:00 AM	3:00 PM	60	1	1	1	1	1			5	D	16.00	5	80,00	1
8	10/19/20	10/23/20		3:00 PM	7:00 PM	60	2	1	2	1	2			8	D	16.00	8	128.00	1
9	10/26/20	10/30/20		6:00 AM	10:00 AM	60	1	2	1	2	1			7	D	18.00	7	126.00	1
10	10/26/20	10/30/20		10:00 AM	3:00 PM	60	1	1	1	1	1			5	D	16.00	5	80.00	1
11	10/26/20	10/30/20		3:00 PM	7:00 PM	60	1	2	1	2	1			7	D	16.00	7	112.00	1
12	10/10/20	10/31/20		6:00 AM	7:00 PM	60						2		2	D	14.00	8	112.00	1
13	10/11/20	10/25/20		6:00 AM	7:00 PM	60							2	2	D	12.00	6	72.00	1

TOTAL GROSS \$1,238.00, NET \$1,238.00

KQEO-FM

No	DATES		Alt	TIN	1ES	LEN		DISTRIBUTION									TOTALS		DTV
140	START	END	wks	START	END	FEIA	М	Т	W	Т	F	SA	SU	Per Wk	DΛV	RATE	SPOTS	\$\$	PTY
1	10/12/20	10/16/20		6:00 AM	10:00 AM	60	1	1	1	1	2			6	D	22.00	6	132.00	1
2	10/12/20	10/16/20		3:00 PM	7:00 PM	60	1	1	1	1	2			6	D	20,00	6	120.00	1
3	10/19/20	10/23/20		6:00 AM	10:00 AM	60	1	1	1	1	1			5	D	22.00	5	110.00	1
4	10/19/20	10/23/20		3:00 PM	7:00 PM	60	1	1	1	1	1			5	D	20.00	5	100.00	1
5	10/26/20	10/30/20		6:00 AM	10:00 AM	60	1	1	1	1	1			5	D	22.00	5	110.00	1
6	10/26/20	10/30/20		10:00 AM	3:00 PM	60	1	1	1	1	1			5	D	20.00	5	100.00	1
7	10/26/20	10/30/20		3:00 PM	7:00 PM	60	1	1	1	1	1			5	D	20.00	5	100.00	1
8	10/10/20	10/31/20		6:00 AM	7:00 PM	60						2		2	D	10.00	8	80.00	1
9	10/11/20	10/25/20		6:00 AM	7:00 PM	60	j						2	2	D	5.00	6	30,00	1

TOTAL GROSS \$882.00, NET \$882.00

KUPI-FM

	DATES		Alt	TIN	MES	1.531		DISTRIBUTION									TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	DW	RATE	SPOTS	\$\$	FII
1	10/09/20	10/09/20		6:00 AM	10:00 AM	60					1			1	D	24.00	1	24.00	1
2	10/12/20	10/16/20		6:00 AM	10:00 AM	60	1	1	1	1	1			5	D	24.00	5	120,00	1
3	10/12/20	10/16/20		3:00 PM	7:00 PM	60	1	1	1	1	1			5	D	22.00	5	110.00	1
4	10/19/20	10/23/20		6:00 AM	10:00 AM	60	1	1	1	1	1			5	D	24.00	5	120.00	1
5	10/19/20	10/23/20		3:00 PM	7:00 PM	60	1		1	1	1			4	D	22.00	4	88,00	1
6	10/26/20	10/30/20		6:00 AM	10:00 AM	60	1	1	1	1	1			5	D	24.00	5	120.00	1
7	10/26/20	10/30/20		3:00 PM	7:00 PM	60	1	1	1	1	1			5	D	22.00	5	110.00	1
8	10/10/20	10/31/20	ļ	10:00 AM	7:00 PM	60						2		2	D	18.00	8	144.00	1
9	10/11/20	10/25/20		10:00 AM	3:00 PM	60							2	- 2	D	10.00	6	60,00	1

TOTAL GROSS \$896.00, NET \$896.00

Billing Proje	ections: By i	viontn						
		Oct 20	Nov 20					
	CA	3,016.00	0.00					
	ST	2,074.00	942.00					
🗹 Print Sp	ot Prices				TOTAL	SPOTS		172
					GROSS	TOTAL \$		3,016.00
					ADJUS'	TED SPOTS	S	172
					ADJUS'	TED TOTAL	.\$	

					APPRO	VE DECL	NE	
					\bigcirc	\bigcirc	Traffic	
					\circ	\bigcirc	Sales Manager	
						\circ	1414kale, 10/07/20 @11:11AM	
					\circ	\circ	Local Sales Manager	